Summary of In ti

Absolute Value Inequalities

Isolate the absolute value first, and then follow either step one or two:

1. Less than symbol: less thand, set up an “and” compound inequality and solve.

2. Greater than symbol: greator than, set up an “or” compound inequality and solve.

Ex 1: Solve [3x-2|-7<0 Ex 2: Solve |-2x+9 21
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Ex 3: Solve |6x+8 < -1 Ex 4: Solve [6x+8]> -1
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Linear Inequaglities (highest power of x is 1
Get x by itself on the left hand side. Your answer should be a single interval.
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Inequalities of degree 2 or more

Get all terms on the left side (zero on the right), factor the left side, and set up a sign diagram! This is the only
type of inequality you use a sign diagram for. You must be careful not to include values that make any
denominators zero, and be sure to include values that make the numerator zero when you have <, or >.



Ex 7: Solve x* +12x 2 —5x+60

Ex 8: Solve —3x*(x+2)X7-x) <0
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Ex 11: Solve I%‘-)-;’;‘;—x)so Ex 12: Solve x*(x+2X7-x)<0
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Q"-’& Bonus (2pts): The number of miles M that a certain compact car can travel on 1 gallon of gasoline is related to
its speed v (in mi/hr) by: M = —?ldvz +%v, for 0 <v <70. For what speeds will M be at least 45?
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